V-, Vo, Vo, Lo-Daten
Vi =( Mo+ Lo)/2

logL o =—0,35u\~Us7q®

Vie=V. /0,95
Vo, V., Mo, Lo _._ logVo =-0,35[Uy~Uss7]?
0 V2570 Adaptation: A, =557

La maximum
log(V ' m)=-0,02
m=0,95
Schwelle
t=0,00
V¢=0,04

o o-Daten
=(Mo+ o)/2
Lio=L /0,81
Lio, Lt Mo, o

log 0=-0,35uy-u ]2

Adaptation: A, =570

maximum
©  Jog(L m)=-0,08
L m=0,81
Schwelle
t=0,00

3 N

+

600

700 A/nm

700 A/nm

EG440-7A

=( ot o2 log 0=-0,35i-u ]2
o=-./044 log o =-0,35[uy-u. - ]?
los =15y 1oy =0y Go Adaptation: A =
1,0 o
maximum
[o] o lo log(
el
Schwelle
0, 520,00
0013 ! ER
400 500 700 A/nm

Th=(n - 550) 7 50
log Vo =-0,35y~U:.]?

uy=(A — 550) / 5
logVo=-0,35[u)-u e

U=(A — 550) / 50

los

los y

\ o Lo-Daten
=(Cot L2
o= /0,81

o Lo

logo=-0,35[u-u. - ]?
logL o =—0,35Uy~Us7q2
Adaptation: A =545

Ur=(A - 550) / 50

maximum
log(V! - m)=-0,08

m=0,81
Schwelle
t=0,00

3 uy

=( ot

lo =

[of}

o2

/0,16

0

o-Daten

600

log =-0,35[u\-u 12
log ©o=-0,35[y~u-~]?
log ¢=-0,35u)-u 12

700 A/nm

Uy=(A — 550) / 50

Adapt.: A

maximum

Schwelle
t4=0,00

3 Uy

EG440-4A

600

log  o=-0,35[u)-u

logo=-0,35[uy~-u. - ]?

|Og LO =—0,35[J)\—U570]2
570 Adaptation: A =

700 A/nm

Uy=(h — 550) / 50
]2

(o]

Lo

+s

lo

maximum
log("~| m)=-0,3}
m=0,44
Schwelle
t2=0,00

3 uy

lo-Daten uy=(A — 550) / 50 lo-Daten
=( o+ Lo)/2 log 0=-0,35[-u ]2 =( o+ Lo)/2
=C 1044 log o=-0,35[uy-u. - ]? =0 1044
lor © v o Co Lo |09Lo=—0,35UA—U57012 o © 4 o o Lo
570 Adapt.: A =
1, = 1,0
= L maximum
i [} olu o o log(" - m)=—0,3 1 o
m=0,44
Schwelle
0,5+ _/ t:=0,00 i
0,0f=3 - -1 i 3 uy

578

log  0=-0,35[u)-u
logL o =-0,35Uy~Us7]
Adaptation: A =

700 A/nm

Uy=(h — 550) / 50
]2

+s

maximum

Schwelle
120,00

3 uy

EG440-8A

700 A/nm



